

**BID2021-14 RECONSTRUCTION OF STUYVESANT STREET FOR THE CITY OF TRENTON, DEPARTMENT OF PUBLIC WORKS,
DIVISION OF TRAFFIC AND TRANSPORTATION BID OPENING 3/31/2021 AT 11:00AM**

Richard T. Barrett Laving Co., Inc

①

CITY OF TRENTON
MERCER COUNTY, NEW JERSEY

STUYVESANT AVENUE RECONSTRUCTION From Parkside Avenue to City Line

SCHEDULE OF PRICES

BASE BID

ITEM 1 MOBILIZATION

1 LS @ \$ 25,000.00 Per LS \$ 25,000.00

Twenty five thousand dollars and no cents

(Write LUMP SUM price for Item 1 in Words and Numbers)

ITEM 2 CONSTRUCTION LAYOUT

1 LS @ \$ 6,000.00 Per LS \$ 6,000.00

Six thousand dollars and no cents

(Write LUMP SUM price for Item 2 in Words and Numbers)

ITEM 3 BREAKAWAY BARRICADE

20 UNIT @ \$ 1.00 Per UNIT \$ 20.00

One dollar and no cents

(Write UNIT price for Item 3 in Words and Numbers)

ITEM 4 DRUM

60 UNIT @ \$ 1.00 Per UNIT \$ 60.00

One dollar and no cents

(Write UNIT price for Item 4 in Words and Numbers)

ITEM 5 TRAFFIC CONE

100 UNIT @ \$ 1.00 Per UNIT \$ 100.00

One dollar and no cents

(Write UNIT price for Item 5 in Words and Numbers)

ITEM 6 CONSTRUCTION SIGNS

300 SF @ \$ 1.00 Per SF \$ 300.00One dollar and no cents

(Write UNIT price for Item 6 in Words and Numbers)

ITEM 7 TRAFFIC DIRECTOR, FLAGGER

100 HOUR @ \$ 76.23 Per HOUR \$ 7,623.00SEVEN THOUSAND SIX HUNDRED TWENTY-THREE DOLLARS
AND ZERO CENTS

(Write UNIT price for Item 7 in Words and Numbers)

ITEM 8 FUEL PRICE ADJUSTMENT

2100 DOLL @ \$ 1.00 Per DOLL \$ 2,100.00TWO THOUSAND ONE HUNDRED DOLLARS AND ZERO CENTS

(Write UNIT price for Item 8 in Words and Numbers)

ITEM 9 ASPHALT PRICE ADJUSTMENT

3600 DOLL @ \$ 1.00 Per DOLL \$ 3,600.00THREE THOUSAND SIX HUNDRED DOLLARS AND ZERO CENTS

(Write UNIT price for Item 9 in Words and Numbers)

ITEM 10 CLEARING SITE

1 LS @ \$ 45,000.00 Per LS \$ 45,000.00Forty five thousand dollars and no cents

(Write LUMP SUM price for Item 10 in Words and Numbers)

ITEM 11 EXCAVATION, TEST PIT

20 CY @ \$ 10.00 Per CY \$ 200.00Ten dollars and no cents

(Write UNIT price for Item 11 in Words and Numbers)

ITEM 12 DENSE-GRADED AGGREGATE BASE COURSE, 6" THICK

200 SY @ \$ 2.00 Per SY \$ 400.00Two dollar and no cents

(Write UNIT price for Item 12 in Words and Numbers)

ITEM 13 HMA MILLING, 3" OR LESS

24473 SY @ \$ 2.45 Per SY \$ 59,958.85

Two dollars and forty five cents

(Write UNIT price for Item 13 in Words and Numbers)

ITEM 14 HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 2" THICK

3392 TON @ \$ 75.23 Per TON \$ 255,180.16

Seventy five dollars and twenty three cents

(Write UNIT price for Item 14 in Words and Numbers)

ITEM 15 HOT MIX ASPHALT 19M64 BASE COURSE, 4" THICK

200 TON @ \$ 80.00 Per TON \$ 16,000.00

Eighty dollars and no cents

(Write UNIT price for Item 15 in Words and Numbers)

ITEM 16 RECONSTRUCTED MODULAR BLOCK WALL (IF & WHERE DIRECTED)

1 LS @ \$ 500.00 Per LS \$ 500.00

Five hundred dollars and no cents

(Write LUMP SUM price for Item 16 in Words and Numbers)

ITEM 17 RESET EXISTING CASTING

28 UNIT @ \$ 380.00 Per UNIT \$ 10,640.00

Three hundred eighty dollars and no cents

(Write UNIT price for Item 17 in Words and Numbers)

ITEM 18 SET INLET TYPE B, CASTING

1 UNIT @ \$ 600.00 Per UNIT \$ 600.00

Six hundred dollars and no cents

(Write UNIT price for Item 18 in Words and Numbers)

ITEM 19 SET MANHOLE CASTING

4 UNIT @ \$ 500.00 Per UNIT \$ 2,000.00

Five hundred dollars and no cents

(Write UNIT price for Item 19 in Words and Numbers)

ITEM 20 RECONSTRUCTED INLET, TYPE B, USING NEW CASTING

5 UNIT @ \$ 100.00 Per UNIT \$ 5500.00

One thousand one hundred dollars and no cents

(Write UNIT price for Item 20 in Words and Numbers)

ITEM 21 RECONSTRUCTED MANHOLE, USING EXISTING CASTING

3 UNIT @ \$ 1150.00 Per UNIT \$ 3750.00

One thousand two hundred fifty dollars and no cents

(Write UNIT price for Item 21 in Words and Numbers)

ITEM 22 BICYCLE SAFE GRATE

3 UNIT @ \$ 300.00 Per UNIT \$ 900.00

Three hundred dollars and no cents

(Write UNIT price for Item 22 in Words and Numbers)

ITEM 23 CURB PIECE

1 UNIT @ \$ 300.00 Per UNIT \$ 300.00

Three hundred dollars and no cents

(Write UNIT price for Item 23 in Words and Numbers)

ITEM 24 CLEANING DRAINAGE STRUCTURE

1 UNIT @ \$ 800.00 Per UNIT \$ 800.00

Eight hundred dollars and no cents

(Write UNIT price for Item 24 in Words and Numbers)

ITEM 25 CONCRETE SIDEWALK, 5" THICK

2918 SY @ \$ 79.00 Per SY \$ 230,522.00

Seventy nine dollars and no cents

(Write UNIT price for Item 25 in Words and Numbers)

ITEM 26 CONCRETE SIDEWALK, REINFORCED, 7" THICK

607 SY @ \$ 88.00 Per SY \$ 53,416.00

Eighty eight dollars and no cents

(Write UNIT price for Item 26 in Words and Numbers)

ITEM 27 HOT MIX ASPHALT DRIVEWAY, 2" THICK

197 SY @ \$ 18.00 Per SY \$ 3546.00

Eighteen dollar and no cents

(Write UNIT price for Item 27 in Words and Numbers)

ITEM 28 DETECTABLE WARNING SURFACE

67 SY @ \$ 287.00 Per SY \$ 19363.00

Two hundred eighty nine dollar and no cents

(Write UNIT price for Item 28 in Words and Numbers)

ITEM 29 RESET EXISTING PAVERS

10 SY @ \$ 180.00 Per SY \$ 1800.00

One hundred eighty dollar and no cents

(Write UNIT price for Item 29 in Words and Numbers)

ITEM 30 9" X 18" CONCRETE VERTICAL CURB

6435 LF @ \$ 29.00 Per LF \$ 186,615.00

Twenty nine dollar and no cents

(Write UNIT price for Item 30 in Words and Numbers)

ITEM 31 GRANITE CURB

150 LF @ \$ 40.00 Per LF \$ 6000.00

Forty dollar and no cents

(Write UNIT price for Item 31 in Words and Numbers)

ITEM 32 TRAFFIC MARKINGS LINES, 4"

210 LF @ \$.70 Per LF \$ 147.00

No dollar and seventy cents

(Write UNIT price for Item 32 in Words and Numbers)

ITEM 33 TRAFFIC MARKINGS LINES, 8"

174 LF @ \$ 1.40 Per LF \$ 243.60

One dollar and forty cents

(Write UNIT price for Item 33 in Words and Numbers)

ITEM 34 TRAFFIC MARKINGS LINES, 24"

2114 LF @ \$ 4.00 Per LF \$ 8456.00

Four dollars and no cents

(Write UNIT price for Item 34 in Words and Numbers)

ITEM 35 TRAFFIC MARKINGS SYMBOLS, ARROW (LEFT)

1 UNIT @ \$ 130.00 Per UNIT \$ 130.00

One hundred thirty dollars and no cents

(Write UNIT price for Item 35 in Words and Numbers)

ITEM 36 TRAFFIC MARKINGS SYMBOLS, ONLY

1 UNIT @ \$ 160.00 Per UNIT \$ 160.00

One hundred sixty dollars and no cents

(Write UNIT price for Item 36 in Words and Numbers)

ITEM 37 REGULATORY AND WARNING SIGN

10 SF @ \$ 45.00 Per SF \$ 450.00

Forty-five dollars and no cents

(Write UNIT price for Item 37 in Words and Numbers)

ITEM 38 TREE REMOVAL, OVER 0" TO 6" DIAMETER

1 UNIT @ \$ 450.00 Per UNIT \$ 450.00

Four hundred fifty dollars and no cents

(Write UNIT price for Item 38 in Words and Numbers)

ITEM 39 TREE REMOVAL, OVER 6" TO 12" DIAMETER

12 UNIT @ \$ 450.00 Per UNIT \$ 5400.00

Four hundred fifty dollars and no cents

(Write UNIT price for Item 39 in Words and Numbers)

ITEM 40 TREE REMOVAL, OVER 12" TO 18" DIAMETER

20 UNIT @ \$ 450.00 Per UNIT \$ 9000.00

Four hundred fifty dollars and no cents

(Write UNIT price for Item 40 in Words and Numbers)

ITEM 41 TREE REMOVAL, OVER 18" TO 24" DIAMETER

13 UNIT @ \$ 450.00 Per UNIT \$ 5850.00

Four hundred fifty dollars and no cents
(Write UNIT price for Item 41 in Words and Numbers)

ITEM 42 TREE REMOVAL, OVER 24" TO 30" DIAMETER

10 UNIT @ \$ 450.00 Per UNIT \$ 4500.00

Four hundred fifty dollars and no cents
(Write UNIT price for Item 42 in Words and Numbers)

ITEM 43 TREE REMOVAL, OVER 30" TO 36" DIAMETER

1 UNIT @ \$ 800.00 Per UNIT \$ 800.00

Eight hundred dollars and no cents
(Write UNIT price for Item 43 in Words and Numbers)

ITEM 44 TREE REMOVAL, OVER 36" DIAMETER

1 UNIT @ \$ 800.00 Per UNIT \$ 800.00

Eight hundred dollars and no cents
(Write UNIT price for Item 44 in Words and Numbers)

ITEM 45 SMALL DECIDUOUS TREE, 2-1/2" CALIPER

50 UNIT @ \$ 432.00 Per UNIT \$ 21,600.00

Four hundred thirty two dollars and no cents
(Write UNIT price for Item 45 in Words and Numbers)

TOTAL BASE BID (Items 1 through 45)

\$ 1,005,780.61

One million five thousand seven hundred
eighty dollars and sixty one cents
(Write Total Bid)

ALTERNATE BID

ITEM 1 12" DUCTILE IRON PIPE, CLASS 52

48 LF @ \$ 170.00 Per LF \$ 8160.00

One hundred seventy dollar and no cents

(Write UNIT price for Item 1 in Words and Numbers)

ITEM 2 12" HIGH DENSITY POLYETHYLENE PIPE

205 LF @ \$ 132.00 Per LF \$ 27060.00

One hundred thirtytwo dollars and no cents

(Write UNIT price for Item 2 in Words and Numbers)

ITEM 3 36" HIGH DENSITY POLYETHYLENE PIPE

206 LF @ \$ 240.00 Per LF \$ 49440.00

Two hundred forty dollars and no cents

(Write UNIT price for Item 3 in Words and Numbers)

ITEM 4 INLET, TYPE D

2 UNIT @ \$ 4000.00 Per UNIT \$ 8000.00

Four thousand dollars and no cents

(Write UNIT price for Item 4 in Words and Numbers)

ITEM 5 INLET, TYPE B, EXTENDED

3 UNIT @ \$ 6500.00 Per UNIT \$ 19500.00

Six thousand five hundred dollars and no cents

(Write UNIT price for Item 5 in Words and Numbers)

ITEM 6 MANHOLE, 4' DIAMETER

2 UNIT @ \$ 4500.00 Per UNIT \$ 9000.00

Four thousand five hundred dollars and no cents

(Write UNIT price for Item 6 in Words and Numbers)

ITEM 7 MANHOLE, 5' DIAMETER

3 UNIT @ \$ 6,000.00 Per UNIT \$ 18,000.00

Six thousand dollars and no cents

(Write UNIT price for Item 7 in Words and Numbers)

ITEM 8 CONCRETE SIDEWALK, 5" THICK

302 SY @ \$ 79.00 Per SY \$ 23,858.00

Seventy nine dollars and no cents

(Write UNIT price for Item 8 in Words and Numbers)

TOTAL ALTERNATE BID (Items 1 through 8)

\$ 163,018.00

One hundred sixty three thousand and eighteen dollars
and no cents

(Write Total Alternate Bid)

PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID

(MANDATORY)

NAME STRAIGHT EDGE STRIPPING
ADDRESS 201 WILTON AVE
CITY, STATE, ZIP MIDDLESEX N.J. 08846
TELEPHONE: 732-302-3001
FAX NO. 732-469-4812
TRADE STRIPPING - SIGNAGE
LICENSE NO. N/A

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

Earle Asphalt, Co.

(22)

CITY OF TRENTON
MERCER COUNTY, NEW JERSEY

STUYVESANT AVENUE RECONSTRUCTION
From Parkside Avenue to City Line

SCHEDULE OF PRICES

BASE BID

ITEM 1 MOBILIZATION

1 LS @ \$ 4,460.00 Per LS \$ 4,460.00

Four thousand four hundred sixty dollars & zero cents
(Write LUMP SUM price for Item 1 in Words and Numbers)

ITEM 2 CONSTRUCTION LAYOUT

1 LS @ \$ 4,000.00 Per LS \$ 4,000.00

Four thousand dollars & zero cents
(Write LUMP SUM price for Item 2 in Words and Numbers)

ITEM 3 BREAKAWAY BARRICADE

20 UNIT @ \$ 0.01 Per UNIT \$ 0.20

Zero dollars & one cent
(Write UNIT price for Item 3 in Words and Numbers)

ITEM 4 DRUM

60 UNIT @ \$ 0.01 Per UNIT \$ 0.60

Zero dollars & one cent
(Write UNIT price for Item 4 in Words and Numbers)

ITEM 5 TRAFFIC CONE

100 UNIT @ \$ 0.01 Per UNIT \$ 1.00

Zero dollars & one cent
(Write UNIT price for Item 5 in Words and Numbers)

ITEM 6 CONSTRUCTION SIGNS

300 SF @ \$ 7.50 Per SF \$ 2,250.00

Seven dollars & fifty cents

(Write UNIT price for Item 6 in Words and Numbers)

ITEM 7 TRAFFIC DIRECTOR, FLAGGER

100 HOUR @ \$ 76.23 Per HOUR \$ 7,623.00

~~SEVENTY SIX DOLLARS & TWENTY THREE CENTS~~

~~AND ZERO CENTS~~ Seventy six dollars & twenty three cents

(Write UNIT price for Item 7 in Words and Numbers)

ITEM 8 FUEL PRICE ADJUSTMENT

2100 DOLL @ \$ 1.00 Per DOLL \$ 2,100.00

~~ONE THOUSAND ONE HUNDRED DOLLARS AND ZERO CENTS~~ One dollar & zero cents

(Write UNIT price for Item 8 in Words and Numbers)

ITEM 9 ASPHALT PRICE ADJUSTMENT

3600 DOLL @ \$ 1.00 Per DOLL \$ 3,600.00

~~THREE THOUSAND SIX HUNDRED DOLLARS AND ZERO CENTS~~ One dollar & zero cents

(Write UNIT price for Item 9 in Words and Numbers)

ITEM 10 CLEARING SITE

1 LS @ \$ 49,192.95 Per LS \$ 49,192.95

Forty nine thousand one hundred ninety two dollars & ninety five cents

(Write LUMP SUM price for Item 10 in Words and Numbers)

ITEM 11 EXCAVATION, TEST PIT

20 CY @ \$ 0.01 Per CY \$ 0.20

Zero dollars & one cent

(Write UNIT price for Item 11 in Words and Numbers)

ITEM 12 DENSE-GRADED AGGREGATE BASE COURSE, 6" THICK

200 SY @ \$ 2.90 Per SY \$ 580.00

Two dollars & ninety cents

(Write UNIT price for Item 12 in Words and Numbers)

ITEM 13	HMA MILLING, 3" OR LESS				
	24473 SY	@ \$	5.00	Per SY	\$ 122,365.00
	<u>Five dollars & zero cents</u>				
	(Write UNIT price for Item 13 in Words and Numbers)				
ITEM 14	HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 2" THICK				
	3392 TON	@ \$	60.00	Per TON	\$ 203,520.00
	<u>Sixty dollars & zero cents</u>				
	(Write UNIT price for Item 14 in Words and Numbers)				
ITEM 15	HOT MIX ASPHALT 19M64 BASE COURSE, 4" THICK				
	200 TON	@ \$	50.00	Per TON	\$ 10,000.00
	<u>Fifty dollars & zero cents</u>				
	(Write UNIT price for Item 15 in Words and Numbers)				
ITEM 16	RECONSTRUCTED MODULAR BLOCK WALL (IF & WHERE DIRECTED)				
	1 LS	@ \$	250.00	Per LS	\$ 250.00
	<u>Two hundred fifty dollars & zero cents</u>				
	(Write LUMP SUM price for Item 16 in Words and Numbers)				
ITEM 17	RESET EXISTING CASTING				
	28 UNIT	@ \$	0.01	Per UNIT	\$ 0.28
	<u>Zero dollars & one cent</u>				
	(Write UNIT price for Item 17 in Words and Numbers)				
ITEM 18	SET INLET TYPE B, CASTING				
	1 UNIT	@ \$	1,510.00	Per UNIT	\$ 1,510.00
	<u>One thousand five hundred ten dollars & zero cents</u>				
	(Write UNIT price for Item 18 in Words and Numbers)				
ITEM 19	SET MANHOLE CASTING				
	4 UNIT	@ \$	863.00	Per UNIT	\$ 3,452.00
	<u>Eight hundred sixty three dollars & zero cents</u>				
	(Write UNIT price for Item 19 in Words and Numbers)				

ITEM 20	RECONSTRUCTED INLET, TYPE B, USING NEW CASTING
5 UNIT	@ \$ <u>1,670.00</u> Per UNIT \$ <u>8,350.00</u>
	<u>One thousand six hundred seventy dollars & zero cents</u>
	(Write UNIT price for Item 20 in Words and Numbers)
ITEM 21	RECONSTRUCTED MANHOLE, USING EXISTING CASTING
3 UNIT	@ \$ <u>665.00</u> Per UNIT \$ <u>1,995.00</u>
	<u>Six hundred sixty five dollars & zero cents</u>
	(Write UNIT price for Item 21 in Words and Numbers)
ITEM 22	BICYCLE SAFE GRATE
3 UNIT	@ \$ <u>350.00</u> Per UNIT \$ <u>1,050.00</u>
	<u>Three hundred fifty dollars & zero cents</u>
	(Write UNIT price for Item 22 in Words and Numbers)
ITEM 23	CURB PIECE
1 UNIT	@ \$ <u>450.00</u> Per UNIT \$ <u>450.00</u>
	<u>Four hundred fifty dollars & zero cents</u>
	(Write UNIT price for Item 23 in Words and Numbers)
ITEM 24	CLEANING DRAINAGE STRUCTURE
1 UNIT	@ \$ <u>225.00</u> Per UNIT \$ <u>225.00</u>
	<u>Two hundred twenty five dollars & zero cents</u>
	(Write UNIT price for Item 24 in Words and Numbers)
ITEM 25	CONCRETE SIDEWALK, 5" THICK
2918 SY	@ \$ <u>84.50</u> Per SY \$ <u>246,571.00</u>
	<u>Eighty four dollars & fifty cents</u>
	(Write UNIT price for Item 25 in Words and Numbers)
ITEM 26	CONCRETE SIDEWALK, REINFORCED, 7" THICK
607 SY	@ \$ <u>100.00</u> Per SY \$ <u>60,700.00</u>
	<u>One hundred dollars & zero cents</u>
	(Write UNIT price for Item 26 in Words and Numbers)

ITEM 27	HOT MIX ASPHALT DRIVEWAY, 2" THICK				
	197 SY	@ \$	37.25	Per SY	\$ 7,338.25
<u>Thirty seven dollars & twenty five cents</u>					
(Write UNIT price for Item 27 in Words and Numbers)					
ITEM 28	DETECTABLE WARNING SURFACE				
	67 SY	@ \$	251.00	Per SY	\$ 16,817.00
<u>Two hundred fifty one dollars & zero cents</u>					
(Write UNIT price for Item 28 in Words and Numbers)					
ITEM 29	RESET EXISTING PAVERS				
	10 SY	@ \$	172.00	Per SY	\$ 1,720.00
<u>One hundred seventy two dollars & zero cents</u>					
(Write UNIT price for Item 29 in Words and Numbers)					
ITEM 30	9" X 18" CONCRETE VERTICAL CURB				
	6435 LF	@ \$	29.40	Per LF	\$ 189,189.00
<u>Twenty nine dollars & forty cents</u>					
(Write UNIT price for Item 30 in Words and Numbers)					
ITEM 31	GRANITE CURB				
	150 LF	@ \$	44.05	Per LF	\$ 6,607.50
<u>Forty four dollars & five cents</u>					
(Write UNIT price for Item 31 in Words and Numbers)					
ITEM 32	TRAFFIC MARKINGS LINES, 4"				
	210 LF	@ \$	0.70	Per LF	\$ 147.00
<u>Zero dollars & seventy cents</u>					
(Write UNIT price for Item 32 in Words and Numbers)					
ITEM 33	TRAFFIC MARKINGS LINES, 8"				
	174 LF	@ \$	1.40	Per LF	\$ 243.60
<u>One dollar & forty cents</u>					
(Write UNIT price for Item 33 in Words and Numbers)					

ITEM 34	TRAFFIC MARKINGS LINES, 24"				
2114 LF	@ \$ <u>4.20</u>	Per LF	\$ <u>8,878.80</u>		
<u>Four dollars & twenty cents</u>					
(Write UNIT price for Item 34 in Words and Numbers)					
ITEM 35	TRAFFIC MARKINGS SYMBOLS, ARROW (LEFT)				
1 UNIT	@ \$ <u>134.50</u>	Per UNIT	\$ <u>134.50</u>		
<u>One hundred thirty four dollars & fifty cents</u>					
(Write UNIT price for Item 35 in Words and Numbers)					
ITEM 36	TRAFFIC MARKINGS SYMBOLS, ONLY				
1 UNIT	@ \$ <u>161.25</u>	Per UNIT	\$ <u>161.25</u>		
<u>One hundred sixty one dollars & twenty five cents</u>					
(Write UNIT price for Item 36 in Words and Numbers)					
ITEM 37	REGULATORY AND WARNING SIGN				
10 SF	@ \$ <u>43.00</u>	Per SF	\$ <u>430.00</u>		
<u>Forty three dollars & zero cents</u>					
(Write UNIT price for Item 37 in Words and Numbers)					
ITEM 38	TREE REMOVAL, OVER 0" TO 6" DIAMETER				
1 UNIT	@ \$ <u>500.00</u>	Per UNIT	\$ <u>500.00</u>		
<u>Five hundred dollars & zero cents</u>					
(Write UNIT price for Item 38 in Words and Numbers)					
ITEM 39	TREE REMOVAL, OVER 6" TO 12" DIAMETER				
12 UNIT	@ \$ <u>600.00</u>	Per UNIT	\$ <u>7,200.00</u>		
<u>Six hundred dollars & zero cents</u>					
(Write UNIT price for Item 39 in Words and Numbers)					
ITEM 40	TREE REMOVAL, OVER 12" TO 18" DIAMETER				
20 UNIT	@ \$ <u>800.00</u>	Per UNIT	\$ <u>16,000.00</u>		
<u>Eight hundred dollars & zero cents</u>					
(Write UNIT price for Item 40 in Words and Numbers)					

ITEM 41	TREE REMOVAL, OVER 18" TO 24" DIAMETER								
	13 UNIT	@ \$	1,000.00	Per UNIT	\$ 13,000.00				
	<u>One thousand dollars & zero cents</u>								
	(Write UNIT price for Item 41 in Words and Numbers)								
ITEM 42	TREE REMOVAL, OVER 24" TO 30" DIAMETER								
	10 UNIT	@ \$	1,400.00	Per UNIT	\$ 14,000.00				
	<u>One thousand four hundred dollars & zero cents</u>								
	(Write UNIT price for Item 42 in Words and Numbers)								
ITEM 43	TREE REMOVAL, OVER 30" TO 36" DIAMETER								
	1 UNIT	@ \$	1,600.00	Per UNIT	\$ 1,600.00				
	<u>One thousand six hundred dollars & zero cents</u>								
	(Write UNIT price for Item 43 in Words and Numbers)								
ITEM 44	TREE REMOVAL, OVER 36" DIAMETER								
	1 UNIT	@ \$	2,700.00	Per UNIT	\$ 2,700.00				
	<u>Two thousand seven hundred dollars & zero cents</u>								
	(Write UNIT price for Item 44 in Words and Numbers)								
ITEM 45	SMALL DECIDUOUS TREE, 2-1/2" CALIPER								
	50 UNIT	@ \$	400.00	Per UNIT	\$ 20,000.00				
	<u>Four hundred dollars & zero cents</u>								
	(Write UNIT price for Item 45 in Words and Numbers)								
TOTAL BASE BID (Items 1 through 45)		\$ 1,040,913.13							
	<u>One million forty thousand nine hundred</u>								
	<u>thirteen dollars & thirteen cents</u>								
	(Write Total Bid)								

ALTERNATE BID

ITEM 1 12" DUCTILE IRON PIPE, CLASS 52

48 LF @ \$ 140.02 Per LF \$ 6,720.96

One hundred forty dollars & two cents

(Write UNIT price for Item 1 in Words and Numbers)

ITEM 2 12" HIGH DENSITY POLYETHYLENE PIPE

205 LF @ \$ 47.55 Per LF \$ 9,747.75

Forty seven dollars & fifty five cents

(Write UNIT price for Item 2 in Words and Numbers)

ITEM 3 36" HIGH DENSITY POLYETHYLENE PIPE

206 LF @ \$ 109.00 Per LF \$ 22,454.00

One hundred nine dollars & zero cents

(Write UNIT price for Item 3 in Words and Numbers)

ITEM 4 INLET, TYPE D

2 UNIT @ \$ 2,500.00 Per UNIT \$ 5,000.00

Two thousand five hundred dollars & zero cents

(Write UNIT price for Item 4 in Words and Numbers)

ITEM 5 INLET, TYPE B, EXTENDED

3 UNIT @ \$ 5,975.15 Per UNIT \$ 17,925.45

Five thousand nine hundred seventy five dollars & fifteen cents

(Write UNIT price for Item 5 in Words and Numbers)

ITEM 6 MANHOLE, 4' DIAMETER

2 UNIT @ \$ 2,499.92 Per UNIT \$ 4,999.84

Two thousand four hundred ninety nine dollars & ninety two cents

(Write UNIT price for Item 6 in Words and Numbers)

ITEM 7 MANHOLE, 5' DIAMETER

3 UNIT @ \$ 7,800.00 Per UNIT \$ 23,400.00

Seven thousand eight hundred dollars & zero cents
(Write UNIT price for Item 7 in Words and Numbers)

ITEM 8 CONCRETE SIDEWALK, 5" THICK

302 SY @ \$ 76.00 Per SY \$ 22,952.00

Seventy six dollars & zero cents
(Write UNIT price for Item 8 in Words and Numbers)

TOTAL ALTERNATE BID (Items 1 through 8) \$ 113,200.00

One hundred thirteen thousand two hundred dollars & zero cents
(Write Total Alternate Bid)

**PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID
(MANDATORY)**

NAME Straight Edge Striping, LLC
ADDRESS 201 Wilton Avenue
CITY, STATE, ZIP Middlesex, NJ 08846
TELEPHONE: (732) 302-3001
FAX NO. (732) 469-4812
TRADE Striping/Signs
LICENSE NO. N/A

NAME Wetlands Incorporated
ADDRESS 569 N Midland Avenue
CITY, STATE, ZIP Saddle Brook, NJ 07663
TELEPHONE: (201) 265-1099
FAX NO. (201) 857-0543
TRADE Tree Removal/Planting
LICENSE NO. N/A

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

Liga Charlie Construction

3

CITY OF TRENTON
MERCER COUNTY, NEW JERSEY

STUYVESANT AVENUE RECONSTRUCTION From Parkside Avenue to City Line

SCHEDULE OF PRICES

BASE BID

ITEM 1 MOBILIZATION

1 LS @ \$ 80,249.50 Per LS \$ 80,249.50

Eighty Thousand Two Hundred Forty Nine Dollars and Fifty Cents
(Write LUMP SUM price for Item 1 in Words and Numbers)

ITEM 2 CONSTRUCTION LAYOUT

1 LS @ \$ 5,000.00 Per LS \$ 5,000.00

Five Thousand Dollars

(Write LUMP SUM price for Item 2 in Words and Numbers)

ITEM 3 BREAKAWAY BARRICADE

20 UNIT @ \$ 1.00 Per UNIT \$ 20.00

One Dollar

(Write UNIT price for Item 3 in Words and Numbers)

ITEM 4 DRUM

60 UNIT @ \$ 1.00 Per UNIT \$ 60.00

One Dollar

(Write UNIT price for Item 4 in Words and Numbers)

ITEM 5 TRAFFIC CONE

100 UNIT @ \$ 1.00 Per UNIT \$ 100.00

One Dollar

(Write UNIT price for Item 5 in Words and Numbers)

ITEM 6 CONSTRUCTION SIGNS

300 SF @ \$ 1.00 Per SF \$ 300.00

One Dollar

(Write UNIT price for Item 6 in Words and Numbers)

ITEM 7 TRAFFIC DIRECTOR, FLAGGER

100 HOUR @ \$ 76.23 Per HOUR \$ 7,623.00

SEVEN THOUSAND SIX HUNDRED TWENTY-THREE DOLLARS
AND ZERO CENTS

(Write UNIT price for Item 7 in Words and Numbers)

ITEM 8 FUEL PRICE ADJUSTMENT

2100 DOLL @ \$ 1.00 Per DOLL \$ 2,100.00

TWO THOUSAND ONE HUNDRED DOLLARS AND ZERO CENTS

(Write UNIT price for Item 8 in Words and Numbers)

ITEM 9 ASPHALT PRICE ADJUSTMENT

3600 DOLL @ \$ 1.00 Per DOLL \$ 3,600.00

THREE THOUSAND SIX HUNDRED DOLLARS AND ZERO CENTS

(Write UNIT price for Item 9 in Words and Numbers)

ITEM 10 CLEARING SITE

1 LS @ \$ 10,000.00 Per LS \$ 10,000.00

Ten Thousand Dollars

(Write LUMP SUM price for Item 10 in Words and Numbers)

ITEM 11 EXCAVATION, TEST PIT

20 CY @ \$ 50.00 Per CY \$ 1,000.00

Fifty Dollars

(Write UNIT price for Item 11 in Words and Numbers)

ITEM 12 DENSE-GRADED AGGREGATE BASE COURSE, 6" THICK

200 SY @ \$ 1.00 Per SY \$ 200.00

One Dollar

(Write UNIT price for Item 12 in Words and Numbers)

ITEM 13 HMA MILLING, 3" OR LESS

24473 SY @ \$ 2.50 Per SY \$ 61,182.50Two Dollars and Fifty Cents

(Write UNIT price for Item 13 in Words and Numbers)

ITEM 14 HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 2" THICK

3392 TON @ \$ 85.00 Per TON \$ 288,320.00Eighty Five Dollars

(Write UNIT price for Item 14 in Words and Numbers)

ITEM 15 HOT MIX ASPHALT 19M64 BASE COURSE, 4" THICK

200 TON @ \$ 100.00 Per TON \$ 20,000.00One Hundred Dollars

(Write UNIT price for Item 15 in Words and Numbers)

ITEM 16 RECONSTRUCTED MODULAR BLOCK WALL (IF & WHERE DIRECTED)

1 LS @ \$ 2,500.00 Per LS \$ 2,500.00Two Thousand Five Hundred Dollars

(Write LUMP SUM price for Item 16 in Words and Numbers)

ITEM 17 RESET EXISTING CASTING

28 UNIT @ \$ 350.00 Per UNIT \$ 9,800.00Three Hundred fifty Dollars

(Write UNIT price for Item 17 in Words and Numbers)

ITEM 18 SET INLET TYPE B, CASTING

1 UNIT @ \$ 900.00 Per UNIT \$ 900.00Nine Hundred Dollars

(Write UNIT price for Item 18 in Words and Numbers)

ITEM 19 SET MANHOLE CASTING

4 UNIT @ \$ 600.00 Per UNIT \$ 2,400.00Six hundred Dollars

(Write UNIT price for Item 19 in Words and Numbers)

ITEM 20	RECONSTRUCTED INLET, TYPE B, USING NEW CASTING
5 UNIT	@ \$ <u>1,750.00</u> Per UNIT \$ <u>8,750.00</u>
	<u>One Thousand Seven Hundred Fifty Dollars</u>
	(Write UNIT price for Item 20 in Words and Numbers)
ITEM 21	RECONSTRUCTED MANHOLE, USING EXISTING CASTING
3 UNIT	@ \$ <u>500.00</u> Per UNIT \$ <u>1,500.00</u>
	<u>Five Hundred Dollars</u>
	(Write UNIT price for Item 21 in Words and Numbers)
ITEM 22	BICYCLE SAFE GRATE
3 UNIT	@ \$ <u>350.00</u> Per UNIT \$ <u>1,050.00</u>
	<u>Three Hundred fifty Dollars</u>
	(Write UNIT price for Item 22 in Words and Numbers)
ITEM 23	CURB PIECE
1 UNIT	@ \$ <u>350.00</u> Per UNIT \$ <u>350.00</u>
	<u>Three Hundred fifty Dollars</u>
	(Write UNIT price for Item 23 in Words and Numbers)
ITEM 24	CLEANING DRAINAGE STRUCTURE
1 UNIT	@ \$ <u>350.00</u> Per UNIT \$ <u>350.00</u>
	<u>Three Hundred Fifty Dollars</u>
	(Write UNIT price for Item 24 in Words and Numbers)
ITEM 25	CONCRETE SIDEWALK, 5" THICK
2918 SY	@ \$ <u>63.00</u> Per SY \$ <u>183,834.00</u>
	<u>Sixty Three Dollars</u>
	(Write UNIT price for Item 25 in Words and Numbers)
ITEM 26	CONCRETE SIDEWALK, REINFORCED, 7" THICK
607 SY	@ \$ <u>81.00</u> Per SY \$ <u>49,167.00</u>
	<u>Eighty One Dollars</u>
	(Write UNIT price for Item 26 in Words and Numbers)

ITEM 27	HOT MIX ASPHALT DRIVEWAY, 2" THICK				
	197 SY	@ \$	25.00	Per SY	\$ 4,925.00
<u>Twenty five Dollars</u>					
(Write UNIT price for Item 27 in Words and Numbers)					
ITEM 28	DETECTABLE WARNING SURFACE				
	67 SY	@ \$	350.00	Per SY	\$ 23,450.00
<u>Three Hundred fifty Dollars</u>					
(Write UNIT price for Item 28 in Words and Numbers)					
ITEM 29	RESET EXISTING PAVERS				
	10 SY	@ \$	125.00	Per SY	\$ 1,250.00
<u>One Hundred Twenty Five Dollars</u>					
(Write UNIT price for Item 29 in Words and Numbers)					
ITEM 30	9" X 18" CONCRETE VERTICAL CURB				
	6435 LF	@ \$	30.00	Per LF	\$ 193,050.00
<u>Thirty Dollars</u>					
(Write UNIT price for Item 30 in Words and Numbers)					
ITEM 31	GRANITE CURB				
	150 LF	@ \$	30.00	Per LF	\$ 4,500.00
<u>Thirty Dollars</u>					
(Write UNIT price for Item 31 in Words and Numbers)					
ITEM 32	TRAFFIC MARKINGS LINES, 4"				
	210 LF	@ \$	1.00	Per LF	\$ 210.00
<u>One Dollar</u>					
(Write UNIT price for Item 32 in Words and Numbers)					
ITEM 33	TRAFFIC MARKINGS LINES, 8"				
	174 LF	@ \$	2.00	Per LF	\$ 348.00
<u>Two Dollars</u>					
(Write UNIT price for Item 33 in Words and Numbers)					

ITEM 34	TRAFFIC MARKINGS LINES, 24"
2114 LF	@ \$ <u>4.00</u> Per LF \$ <u>8,456.00</u>
<u>Four Dollars</u>	
(Write UNIT price for Item 34 in Words and Numbers)	
ITEM 35	TRAFFIC MARKINGS SYMBOLS, ARROW (LEFT)
1 UNIT	@ \$ <u>135.00</u> Per UNIT \$ <u>135.00</u>
<u>One Hundred Thirty Five Dollars</u>	
(Write UNIT price for Item 35 in Words and Numbers)	
ITEM 36	TRAFFIC MARKINGS SYMBOLS, ONLY
1 UNIT	@ \$ <u>165.00</u> Per UNIT \$ <u>165.00</u>
<u>One Hundred Sixty Five Dollars</u>	
(Write UNIT price for Item 36 in Words and Numbers)	
ITEM 37	REGULATORY AND WARNING SIGN
10 SF	@ \$ <u>45.00</u> Per SF \$ <u>450.00</u>
<u>forty Five Dollars</u>	
(Write UNIT price for Item 37 in Words and Numbers)	
ITEM 38	TREE REMOVAL, OVER 0" TO 6" DIAMETER
1 UNIT	@ \$ <u>250.00</u> Per UNIT \$ <u>250.00</u>
<u>Two hundred fifty Dollars</u>	
(Write UNIT price for Item 38 in Words and Numbers)	
ITEM 39	TREE REMOVAL, OVER 6" TO 12" DIAMETER
12 UNIT	@ \$ <u>500.00</u> Per UNIT \$ <u>6,000.00</u>
<u>Five hundred Dollars</u>	
(Write UNIT price for Item 39 in Words and Numbers)	
ITEM 40	TREE REMOVAL, OVER 12" TO 18" DIAMETER
20 UNIT	@ \$ <u>750.00</u> Per UNIT \$ <u>15,000.00</u>
<u>Seven hundred fifty Dollars</u>	
(Write UNIT price for Item 40 in Words and Numbers)	

ITEM 41 TREE REMOVAL, OVER 18" TO 24" DIAMETER

13 UNIT @ \$ 1,000.00 Per UNIT \$ 13,000.00

One Thousand Dollars

(Write UNIT price for Item 41 in Words and Numbers)

ITEM 42 TREE REMOVAL, OVER 24" TO 30" DIAMETER

10 UNIT @ \$ 1,250.00 Per UNIT \$ 12,500.00

One Thousand Two Hundred fifty Dollars

(Write UNIT price for Item 42 in Words and Numbers)

ITEM 43 TREE REMOVAL, OVER 30" TO 36" DIAMETER

1 UNIT @ \$ 1,500.00 Per UNIT \$ 1,500.00

One Thousand Five Hundred Dollars

(Write UNIT price for Item 43 in Words and Numbers)

ITEM 44 TREE REMOVAL, OVER 36" DIAMETER

1 UNIT @ \$ 2,000.00 Per UNIT \$ 2,000.00

Two Thousand Dollars

(Write UNIT price for Item 44 in Words and Numbers)

ITEM 45 SMALL DECIDUOUS TREE, 2-1/2" CALIPER

50 UNIT @ \$ 350.00 Per UNIT \$ 17,500.00

Three Hundred fifty Dollars

(Write UNIT price for Item 45 in Words and Numbers)

TOTAL BASE BID (Items 1 through 45) \$ 1,045,045.00

One million forty five thousand forty five Dollars

(Write Total Bid) and Zero Cents

ALTERNATE BID

ITEM 1 12" DUCTILE IRON PIPE, CLASS 52

48 LF @ \$ 120.00 Per LF \$ 5,760.00

One Hundred Twenty Dollars

(Write UNIT price for Item 1 in Words and Numbers)

ITEM 2 12" HIGH DENSITY POLYETHYLENE PIPE

205 LF @ \$ 40.00 Per LF \$ 8,200.00

forty Dollars

(Write UNIT price for Item 2 in Words and Numbers)

ITEM 3 36" HIGH DENSITY POLYETHYLENE PIPE

206 LF @ \$ 75.00 Per LF \$ 15,450.00

Seventy five Dollars

(Write UNIT price for Item 3 in Words and Numbers)

ITEM 4 INLET, TYPE D

2 UNIT @ \$ 2,500.00 Per UNIT \$ 5,000.00

Two Thousand Five Hundred Dollars

(Write UNIT price for Item 4 in Words and Numbers)

ITEM 5 INLET, TYPE B, EXTENDED

3 UNIT @ \$ 3,500.00 Per UNIT \$ 10,500.00

Three Thousand Five Hundred Dollars

(Write UNIT price for Item 5 in Words and Numbers)

ITEM 6 MANHOLE, 4' DIAMETER

2 UNIT @ \$ 2,879.50 Per UNIT \$ 5,759.00

Two Thousand Eight Hundred Seventy Nine Dollars and

(Write UNIT price for Item 6 in Words and Numbers)

(61) Fifty Cents

ITEM 7 MANHOLE, 5' DIAMETER

3 UNIT @ \$ 3,128.00 Per UNIT \$ 9,384.00

Three Thousand One Hundred Twenty Eight Dollars
(Write UNIT price for Item 7 in Words and Numbers)

ITEM 8 CONCRETE SIDEWALK, 5" THICK

302 SY @ \$ 63.00 Per SY \$ 19,026.00

Sixty Three Dollars
(Write UNIT price for Item 8 in Words and Numbers)

TOTAL ALTERNATE BID (Items 1 through 8) \$ 79,029.00

Seventy Nine Thousand Seventy Nine Dollars
(Write Total Alternate Bid) and Zero Cents

PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID
(MANDATORY)

NAME Straight Edge Striping
ADDRESS 2010 Wilton Avenue
CITY, STATE, ZIP Middlesex, NJ
TELEPHONE: _____
FAX NO. _____
TRADE Striping
LICENSE NO. n/a

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

J. Batata

4

CITY OF TRENTON
MERCER COUNTY, NEW JERSEY

STUYVESANT AVENUE RECONSTRUCTION
From Parkside Avenue to City Line

SCHEDULE OF PRICES

BASE BID

ITEM 1 MOBILIZATION

1 LS @ \$ 20,000. Per LS \$ 20,000.

Twenty Thousand

(Write LUMP SUM price for Item 1 in Words and Numbers)

ITEM 2 CONSTRUCTION LAYOUT

1 LS @ \$ 5,000. Per LS \$ 5,000.

Five Thousand

(Write LUMP SUM price for Item 2 in Words and Numbers)

ITEM 3 BREAKAWAY BARRICADE

20 UNIT @ \$ 1. Per UNIT \$ 20.

One

(Write UNIT price for Item 3 in Words and Numbers)

ITEM 4 DRUM

60 UNIT @ \$ 1. Per UNIT \$ 60.

One

(Write UNIT price for Item 4 in Words and Numbers)

ITEM 5 TRAFFIC CONE

100 UNIT @ \$ 1. Per UNIT \$ 100.

One

(Write UNIT price for Item 5 in Words and Numbers)

ITEM 6	CONSTRUCTION SIGNS
300 SF	@ \$ <u>1.⁰⁰</u> Per SF \$ <u>300.⁰⁰</u>
<u>One</u>	
(Write UNIT price for Item 6 in Words and Numbers)	
ITEM 7	TRAFFIC DIRECTOR, FLAGGER
100 HOUR	@ \$ <u>76.23</u> Per HOUR \$ <u>7,623.00</u>
<u>SEVEN THOUSAND SIX HUNDRED TWENTY-THREE DOLLARS</u>	
<u>AND ZERO CENTER</u>	
(Write UNIT price for Item 7 in Words and Numbers)	
ITEM 8	FUEL PRICE ADJUSTMENT
2100 DOLL	@ \$ <u>1.00</u> Per DOLL \$ <u>2,100.00</u>
<u>TWO THOUSAND ONE HUNDRED DOLLARS AND ZERO CENTS</u>	
(Write UNIT price for Item 8 in Words and Numbers)	
ITEM 9	ASPHALT PRICE ADJUSTMENT
3600 DOLL	@ \$ <u>1.00</u> Per DOLL \$ <u>3,600.00</u>
<u>THREE THOUSAND SIX HUNDRED DOLLARS AND ZERO CENTS</u>	
(Write UNIT price for Item 9 in Words and Numbers)	
ITEM 10	CLEARING SITE
1 LS	@ \$ <u>50,000.⁰⁰</u> Per LS \$ <u>50,000.⁰⁰</u>
<u>Fifty Thousand</u>	
(Write LUMP SUM price for Item 10 in Words and Numbers)	
ITEM 11	EXCAVATION, TEST PIT
20 CY	@ \$ <u>100.⁰⁰</u> Per CY \$ <u>2,000.⁰⁰</u>
<u>Hundred</u>	
(Write UNIT price for Item 11 in Words and Numbers)	
ITEM 12	DENSE-GRADED AGGREGATE BASE COURSE, 6" THICK
200 SY	@ \$ <u>25.⁰⁰</u> Per SY \$ <u>10,000.⁰⁰</u>
<u>Twenty Five</u>	
(Write UNIT price for Item 12 in Words and Numbers)	

ITEM 13	HMA MILLING, 3" OR LESS				
24473 SY	@ \$	3. ⁵⁰	Per SY	\$	85,655. ⁵⁰
<u>Three and ⁵⁰/₁₀₀</u>					
(Write UNIT price for Item 13 in Words and Numbers)					
ITEM 14	HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 2" THICK				
3392 TON	@ \$	85. ⁰⁰	Per TON	\$	288,320. ⁰⁰
<u>Eighty Five</u>					
(Write UNIT price for Item 14 in Words and Numbers)					
ITEM 15	HOT MIX ASPHALT 19M64 BASE COURSE, 4" THICK				
200 TON	@ \$	82. ⁵⁰	Per TON	\$	16,500. ⁵⁰
<u>Eighty Two and ⁵⁰/₁₀₀</u>					
(Write UNIT price for Item 15 in Words and Numbers)					
ITEM 16	RECONSTRUCTED MODULAR BLOCK WALL (IF & WHERE DIRECTED)				
1 LS	@ \$	10,000. ⁰⁰	Per LS	\$	10,000. ⁰⁰
<u>Ten Thousand</u>					
(Write LUMP SUM price for Item 16 in Words and Numbers)					
ITEM 17	RESET EXISTING CASTING				
28 UNIT	@ \$	400. ⁰⁰	Per UNIT	\$	11,200. ⁰⁰
<u>Four Hundred</u>					
(Write UNIT price for Item 17 in Words and Numbers)					
ITEM 18	SET INLET TYPE B, CASTING				
1 UNIT	@ \$	2,000. ⁰⁰	Per UNIT	\$	2,000. ⁰⁰
<u>Two Thousand</u>					
(Write UNIT price for Item 18 in Words and Numbers)					
ITEM 19	SET MANHOLE CASTING				
4 UNIT	@ \$	500. ⁰⁰	Per UNIT	\$	2,000. ⁰⁰
<u>Five Hundred</u>					
(Write UNIT price for Item 19 in Words and Numbers)					

ITEM 20	RECONSTRUCTED INLET, TYPE B, USING NEW CASTING
5 UNIT	@ \$ <u>1,000.</u> ⁰⁰ Per UNIT \$ <u>5,000.</u> ⁰⁰
<u>Thousands</u>	
(Write UNIT price for Item 20 in Words and Numbers)	
ITEM 21	RECONSTRUCTED MANHOLE, USING EXISTING CASTING
3 UNIT	@ \$ <u>2,000.</u> ⁰⁰ Per UNIT \$ <u>6,000.</u> ⁰⁰
<u>Two Thousand</u>	
(Write UNIT price for Item 21 in Words and Numbers)	
ITEM 22	BICYCLE SAFE GRATE
3 UNIT	@ \$ <u>400.</u> ⁰⁰ Per UNIT \$ <u>1,200.</u> ⁰⁰
<u>Four Hundred</u>	
(Write UNIT price for Item 22 in Words and Numbers)	
ITEM 23	CURB PIECE
1 UNIT	@ \$ <u>400.</u> ⁰⁰ Per UNIT \$ <u>400.</u> ⁰⁰
<u>Four Hundred</u>	
(Write UNIT price for Item 23 in Words and Numbers)	
ITEM 24	CLEANING DRAINAGE STRUCTURE
1 UNIT	@ \$ <u>2,000.</u> ⁰⁰ Per UNIT \$ <u>2,000.</u> ⁰⁰
<u>Two Thousand</u>	
(Write UNIT price for Item 24 in Words and Numbers)	
ITEM 25	CONCRETE SIDEWALK, 5" THICK
2918 SY	@ \$ <u>75.</u> ⁰⁰ Per SY \$ <u>218,850.</u> ⁰⁰
<u>Seventy Five</u>	
(Write UNIT price for Item 25 in Words and Numbers)	
ITEM 26	CONCRETE SIDEWALK, REINFORCED, 7" THICK
607 SY	@ \$ <u>85.</u> ⁰⁰ Per SY \$ <u>51,595.</u> ⁰⁰
<u>Eighty Five</u>	
(Write UNIT price for Item 26 in Words and Numbers)	

ITEM 27	HOT MIX ASPHALT DRIVEWAY, 2" THICK				
	197 SY	@ \$	50.	Per SY	\$ 9,850.
	<u>Fifty</u> (Write UNIT price for Item 27 in Words and Numbers)				
ITEM 28	DETECTABLE WARNING SURFACE				
	67 SY	@ \$	300.	Per SY	\$ 20,100.
	<u>Three Hundred</u> (Write UNIT price for Item 28 in Words and Numbers)				
ITEM 29	RESET EXISTING PAVERS				
	10 SY	@ \$	100.	Per SY	\$ 1,000.
	<u>Hundred</u> (Write UNIT price for Item 29 in Words and Numbers)				
ITEM 30	9" X 18" CONCRETE VERTICAL CURB				
	6435 LF	@ \$	22.	Per LF	\$ 141,570.
	<u>Twenty Two</u> (Write UNIT price for Item 30 in Words and Numbers)				
ITEM 31	GRANITE CURB				
	150 LF	@ \$	30.	Per LF	\$ 4,500.
	<u>Thirty</u> (Write UNIT price for Item 31 in Words and Numbers)				
ITEM 32	TRAFFIC MARKINGS LINES, 4"				
	210 LF	@ \$	1.	Per LF	\$ 210.
	<u>One</u> (Write UNIT price for Item 32 in Words and Numbers)				
ITEM 33	TRAFFIC MARKINGS LINES, 8"				
	174 LF	@ \$	2.	Per LF	\$ 348.
	<u>Two</u> (Write UNIT price for Item 33 in Words and Numbers)				

ITEM 34	TRAFFIC MARKINGS LINES, 24"	2114 LF	@ \$ <u>4.00</u>	Per LF	\$ <u>8,456.00</u>
		<u>Four</u> (Write UNIT price for Item 34 in Words and Numbers)			
ITEM 35	TRAFFIC MARKINGS SYMBOLS, ARROW (LEFT)	1 UNIT	@ \$ <u>200.00</u>	Per UNIT	\$ <u>200.00</u>
		<u>Two Hundred</u> (Write UNIT price for Item 35 in Words and Numbers)			
ITEM 36	TRAFFIC MARKINGS SYMBOLS, ONLY	1 UNIT	@ \$ <u>200.00</u>	Per UNIT	\$ <u>200.00</u>
		<u>Two Hundred</u> (Write UNIT price for Item 36 in Words and Numbers)			
ITEM 37	REGULATORY AND WARNING SIGN	10 SF	@ \$ <u>50.00</u>	Per SF	\$ <u>500.00</u>
		<u>Five Fifty</u> (Write UNIT price for Item 37 in Words and Numbers)			
ITEM 38	TREE REMOVAL, OVER 0" TO 6" DIAMETER	1 UNIT	@ \$ <u>500.00</u>	Per UNIT	\$ <u>500.00</u>
		<u>Five Hundred</u> (Write UNIT price for Item 38 in Words and Numbers)			
ITEM 39	TREE REMOVAL, OVER 6" TO 12" DIAMETER	12 UNIT	@ \$ <u>500.00</u>	Per UNIT	\$ <u>6,000.00</u>
		<u>Five Hundred</u> (Write UNIT price for Item 39 in Words and Numbers)			
ITEM 40	TREE REMOVAL, OVER 12" TO 18" DIAMETER	20 UNIT	@ \$ <u>500.00</u>	Per UNIT	\$ <u>10,000.00</u>
		<u>Five Hundred</u> (Write UNIT price for Item 40 in Words and Numbers)			

ITEM 41 TREE REMOVAL, OVER 18" TO 24" DIAMETER

13 UNIT @ \$ 750. Per UNIT \$ 9,750.

Seven Hundred Fifty

(Write UNIT price for Item 41 in Words and Numbers)

ITEM 42 TREE REMOVAL, OVER 24" TO 30" DIAMETER

10 UNIT @ \$ 1,000. Per UNIT \$ 10,000.

Thousand

(Write UNIT price for Item 42 in Words and Numbers)

ITEM 43 TREE REMOVAL, OVER 30" TO 36" DIAMETER

1 UNIT @ \$ 5,000. Per UNIT \$ 5,000.

Five Thousand

(Write UNIT price for Item 43 in Words and Numbers)

ITEM 44 TREE REMOVAL, OVER 36" DIAMETER

1 UNIT @ \$ 5,000. Per UNIT \$ 5,000.

Five Thousand

(Write UNIT price for Item 44 in Words and Numbers)

ITEM 45 SMALL DECIDUOUS TREE, 2-1/2" CALIPER

50 UNIT @ \$ 500. Per UNIT \$ 25,000.

Five Hundred

(Write UNIT price for Item 45 in Words and Numbers)

TOTAL BASE BID (Items 1 through 45)

\$ 1,059,707.

50

One Million Fifty Nine Thousand Seven Hundred Seven and 50/₁₀₀.

(Write Total Bid)

ALTERNATE BID

ITEM 1 12" DUCTILE IRON PIPE, CLASS 52

48 LF @ \$ 150. Per LF \$ 7,200.

One Hundred Fifty

(Write UNIT price for Item 1 in Words and Numbers

ITEM 2 12" HIGH DENSITY POLYETHYLENE PIPE

205 LF @ \$ 50. Per LF \$ 10,250.

Fifty

(Write UNIT price for Item 2 in Words and Numbers

ITEM 3 36" HIGH DENSITY POLYETHYLENE PIPE

206 LF @ \$ 100. Per LF \$ 20,600.

Hundred

(Write UNIT price for Item 3 in Words and Numbers

ITEM 4 INLET, TYPE D

2 UNIT @ \$ 3,000. Per UNIT \$ 6,000.

Three Thousand

(Write UNIT price for Item 4 in Words and Numbers

ITEM 5 INLET, TYPE B, EXTENDED

3 UNIT @ \$ 4,500. Per UNIT \$ 13,500.

Four Thousand Five Hundred

(Write UNIT price for Item 5 in Words and Numbers

ITEM 6 MANHOLE, 4' DIAMETER

2 UNIT @ \$ 4,000. Per UNIT \$ 8,000.

Four Thousand

(Write UNIT price for Item 6 in Words and Numbers

ITEM 7 MANHOLE, 5' DIAMETER

3 UNIT @ \$ 5,000.⁰⁰ Per UNIT \$ 15,000.⁰⁰

Five Thousand

(Write UNIT price for Item 7 in Words and Numbers)

ITEM 8 CONCRETE SIDEWALK, 5" THICK

302 SY @ \$ 75.⁰⁰ Per SY \$ 22,650.⁰⁰

Seventy Five

(Write UNIT price for Item 8 in Words and Numbers)

TOTAL ALTERNATE BID (Items 1 through 8)

\$ 103,200.⁰⁰

One Hundred Three Thousand Two Hundred and ⁰⁰ / ₁₀₀

(Write Total Alternate Bid)

PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID
(MANDATORY)

NAME Lucas Brothers
ADDRESS 80 Ambay Road
CITY, STATE, ZIP Morganville, NJ 07751
TELEPHONE: 732-536-6663
FAX NO. 732-536-5831
TRADE Milling / Paving
LICENSE NO. _____

NAME Straight Edge
ADDRESS 201 Wilton Avenue
CITY, STATE, ZIP Middlesex, NJ 08846
TELEPHONE: 732-302-3001
FAX NO. 732-462-4612
TRADE Striping
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

Esposito Const.

5

CITY OF TRENTON
MERCER COUNTY, NEW JERSEY

STUYVESANT AVENUE RECONSTRUCTION
From Parkside Avenue to City Line

SCHEDULE OF PRICES

BASE BID

ITEM 1 MOBILIZATION

1 LS @ \$ 60000 Per LS \$ 60000

SIXTY THOUSAND DOLLARS

(Write LUMP SUM price for Item 1 in Words and Numbers)

ITEM 2 CONSTRUCTION LAYOUT

1 LS @ \$ 1500 Per LS \$ 1500

one thousand five hundred dollars

(Write LUMP SUM price for Item 2 in Words and Numbers)

ITEM 3 BREAKAWAY BARRICADE

20 UNIT @ \$.01 Per UNIT \$ 0.20

one cent

(Write UNIT price for Item 3 in Words and Numbers)

ITEM 4 DRUM

60 UNIT @ \$.01 Per UNIT \$ 0.60

one cent

(Write UNIT price for Item 4 in Words and Numbers)

ITEM 5 TRAFFIC CONE

100 UNIT @ \$.01 Per UNIT \$ 1.00

one cent

(Write UNIT price for Item 5 in Words and Numbers)

ITEM 6	CONSTRUCTION SIGNS
300 SF	@ \$ <u>.01</u> Per SF \$ <u>3.00</u>
<u>one cent</u>	
(Write UNIT price for Item 6 in Words and Numbers)	
ITEM 7	TRAFFIC DIRECTOR, FLAGGER
100 HOUR	@ \$ <u>76.23</u> Per HOUR \$ <u>7,623.00</u>
<u>SEVEN THOUSAND SIX HUNDRED TWENTY-THREE DOLLARS</u>	
<u>AND ZERO CENTER</u>	
(Write UNIT price for Item 7 in Words and Numbers)	
ITEM 8	FUEL PRICE ADJUSTMENT
2100 DOLL	@ \$ <u>1.00</u> Per DOLL \$ <u>2,100.00</u>
<u>TWO THOUSAND ONE HUNDRED DOLLARS AND ZERO CENTS</u>	
(Write UNIT price for Item 8 in Words and Numbers)	
ITEM 9	ASPHALT PRICE ADJUSTMENT
3600 DOLL	@ \$ <u>1.00</u> Per DOLL \$ <u>3,600.00</u>
<u>THREE THOUSAND SIX HUNDRED DOLLARS AND ZERO CENTS</u>	
(Write UNIT price for Item 9 in Words and Numbers)	
ITEM 10	CLEARING SITE
1 LS	@ \$ <u>25000</u> Per LS \$ <u>25000</u>
<u>twenty five thousand</u>	
(Write LUMP SUM price for Item 10 in Words and Numbers)	
ITEM 11	EXCAVATION, TEST PIT
20 CY	@ \$ <u>.01</u> Per CY \$ <u>0.20</u>
<u>one cent</u>	
(Write UNIT price for Item 11 in Words and Numbers)	
ITEM 12	DENSE-GRADED AGGREGATE BASE COURSE, 6" THICK
200 SY	@ \$ <u>.01</u> Per SY \$ <u>2.00</u>
<u>one cent</u>	
(Write UNIT price for Item 12 in Words and Numbers)	

ITEM 13	HMA MILLING, 3" OR LESS				
	24473 SY	@ \$	2.85	Per SY	\$ 69748.05
<u>two dollars eighty five cents</u>					
(Write UNIT price for Item 13 in Words and Numbers)					
ITEM 14	HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 2" THICK				
	3392 TON	@ \$	85.11	Per TON	\$ 288693.12
<u>eighty five dollars eleven cents</u>					
(Write UNIT price for Item 14 in Words and Numbers)					
ITEM 15	HOT MIX ASPHALT 19M64 BASE COURSE, 4" THICK				
	200 TON	@ \$.01	Per TON	\$ 2.00
<u>one cent</u>					
(Write UNIT price for Item 15 in Words and Numbers)					
ITEM 16	RECONSTRUCTED MODULAR BLOCK WALL (IF & WHERE DIRECTED)				
	1 LS	@ \$	1000	Per LS	\$ 1000
<u>one thousand dollars</u>					
(Write LUMP SUM price for Item 16 in Words and Numbers)					
ITEM 17	RESET EXISTING CASTING				
	28 UNIT	@ \$	50	Per UNIT	\$ 1400
<u>fifty dollars</u>					
(Write UNIT price for Item 17 in Words and Numbers)					
ITEM 18	SET INLET TYPE B, CASTING				
	1 UNIT	@ \$	1000	Per UNIT	\$ 1000
<u>one thousand dollars</u>					
(Write UNIT price for Item 18 in Words and Numbers)					
ITEM 19	SET MANHOLE CASTING				
	4 UNIT	@ \$	850	Per UNIT	\$ 3400
<u>eight hundred fifty dollars</u>					
(Write UNIT price for Item 19 in Words and Numbers)					

ITEM 20 RECONSTRUCTED INLET, TYPE B, USING NEW CASTING

5 UNIT @ \$ 1000 Per UNIT \$ 5000

one thousand dollars

(Write UNIT price for Item 20 in Words and Numbers)

ITEM 21 RECONSTRUCTED MANHOLE, USING EXISTING CASTING

3 UNIT @ \$ 850 Per UNIT \$ 2550

eight hundred fifty dollars

(Write UNIT price for Item 21 in Words and Numbers)

ITEM 22 BICYCLE SAFE GRATE

3 UNIT @ \$ 200 Per UNIT \$ 600

two hundred dollars

(Write UNIT price for Item 22 in Words and Numbers)

ITEM 23 CURB PIECE

1 UNIT @ \$ 200 Per UNIT \$ 200

two hundred dollars

(Write UNIT price for Item 23 in Words and Numbers)

ITEM 24 CLEANING DRAINAGE STRUCTURE

1 UNIT @ \$ 1000 Per UNIT \$ 1000

one thousand dollars

(Write UNIT price for Item 24 in Words and Numbers)

ITEM 25 CONCRETE SIDEWALK, 5" THICK

2918 SY @ \$ 75 Per SY \$ 218850

seventy five dollars

(Write UNIT price for Item 25 in Words and Numbers)

ITEM 26 CONCRETE SIDEWALK, REINFORCED, 7" THICK

607 SY @ \$ 95 Per SY \$ 57665

ninety five dollars

(Write UNIT price for Item 26 in Words and Numbers)

ITEM 27 HOT MIX ASPHALT DRIVEWAY, 2" THICK

197 SY @ \$ 20 Per SY \$ 3940

twenty dollars

(Write UNIT price for Item 27 in Words and Numbers)

ITEM 28 DETECTABLE WARNING SURFACE

67 SY @ \$ 300 Per SY \$ 20100

three hundred dollars

(Write UNIT price for Item 28 in Words and Numbers)

ITEM 29 RESET EXISTING PAVERS

10 SY @ \$ 100 Per SY \$ 1000

one hundred dollars

(Write UNIT price for Item 29 in Words and Numbers)

ITEM 30 9" X 18" CONCRETE VERTICAL CURB

6435 LF @ \$ 27 Per LF \$ 173745

twenty seven dollars

(Write UNIT price for Item 30 in Words and Numbers)

ITEM 31 GRANITE CURB

150 LF @ \$ 30 Per LF \$ 4500

thirty dollars

(Write UNIT price for Item 31 in Words and Numbers)

ITEM 32 TRAFFIC MARKINGS LINES, 4"

210 LF @ \$ 1 Per LF \$ 210

one dollars

(Write UNIT price for Item 32 in Words and Numbers)

ITEM 33 TRAFFIC MARKINGS LINES, 8"

174 LF @ \$ 2 Per LF \$ 348

two dollars

(Write UNIT price for Item 33 in Words and Numbers)

ITEM 34	TRAFFIC MARKINGS LINES, 24"				
	2114 LF	@ \$	4.25	Per LF	\$ 8984.50
<u>four dollars twenty five cents</u>					
(Write UNIT price for Item 34 in Words and Numbers)					
ITEM 35	TRAFFIC MARKINGS SYMBOLS, ARROW (LEFT)				
	1 UNIT	@ \$	130	Per UNIT	\$ 130
<u>one hundred thirty dollars</u>					
(Write UNIT price for Item 35 in Words and Numbers)					
ITEM 36	TRAFFIC MARKINGS SYMBOLS, ONLY				
	1 UNIT	@ \$	160	Per UNIT	\$ 160
<u>one hundred sixty dollars</u>					
(Write UNIT price for Item 36 in Words and Numbers)					
ITEM 37	REGULATORY AND WARNING SIGN				
	10 SF	@ \$	50	Per SF	\$ 500
<u>fifty dollars</u>					
(Write UNIT price for Item 37 in Words and Numbers)					
ITEM 38	TREE REMOVAL, OVER 0" TO 6" DIAMETER				
	1 UNIT	@ \$	500	Per UNIT	\$ 500
<u>five hundred dollars</u>					
(Write UNIT price for Item 38 in Words and Numbers)					
ITEM 39	TREE REMOVAL, OVER 6" TO 12" DIAMETER				
	12 UNIT	@ \$	800	Per UNIT	\$ 9600
<u>eight hundred dollars</u>					
(Write UNIT price for Item 39 in Words and Numbers)					
ITEM 40	TREE REMOVAL, OVER 12" TO 18" DIAMETER				
	20 UNIT	@ \$	1000	Per UNIT	\$ 20000
<u>one thousand dollars</u>					
(Write UNIT price for Item 40 in Words and Numbers)					

ITEM 41 TREE REMOVAL, OVER 18" TO 24" DIAMETER

13 UNIT @ \$ 1650 Per UNIT \$ 21450

one thousand six hundred fifty dollars

(Write UNIT price for Item 41 in Words and Numbers)

ITEM 42 TREE REMOVAL, OVER 24" TO 30" DIAMETER

10 UNIT @ \$ 2700 Per UNIT \$ 27000

two thousand seven hundred dollars

(Write UNIT price for Item 42 in Words and Numbers)

ITEM 43 TREE REMOVAL, OVER 30" TO 36" DIAMETER

1 UNIT @ \$ 3650 Per UNIT \$ 3650

three thousand six hundred fifty dollars

(Write UNIT price for Item 43 in Words and Numbers)

ITEM 44 TREE REMOVAL, OVER 36" DIAMETER

1 UNIT @ \$ 4650 Per UNIT \$ 4650

four thousand six hundred fifty dollars

(Write UNIT price for Item 44 in Words and Numbers)

ITEM 45 SMALL DECIDUOUS TREE, 2-1/2" CALIPER

50 UNIT @ \$ 500 Per UNIT \$ 25000

five hundred dollars

(Write UNIT price for Item 45 in Words and Numbers)

TOTAL BASE BID (Items 1 through 45)

\$ \$1,076,409.25

ONE MILLION SEVENTY SIX THOUSAND, FOUR HUNDRED NINE DOLLARS AND TWENTY

(Write Total Bid)

FIVE CENTS

ALTERNATE BID

ITEM 1 12" DUCTILE IRON PIPE, CLASS 52

48 LF @ \$ 150 Per LF \$ 7200

one hundred fifty

(Write UNIT price for Item 1 in Words and Numbers)

ITEM 2 12" HIGH DENSITY POLYETHYLENE PIPE

205 LF @ \$ 20 Per LF \$ 4100

twenty

(Write UNIT price for Item 2 in Words and Numbers)

ITEM 3 36" HIGH DENSITY POLYETHYLENE PIPE

206 LF @ \$ 35 Per LF \$ 7210

thirty five

(Write UNIT price for Item 3 in Words and Numbers)

ITEM 4 INLET, TYPE D

2 UNIT @ \$ 3000 Per UNIT \$ 6000

three thousand

(Write UNIT price for Item 4 in Words and Numbers)

ITEM 5 INLET, TYPE B, EXTENDED

3 UNIT @ \$ 3250 Per UNIT \$ 9750

three thousand two hundred fifty

(Write UNIT price for Item 5 in Words and Numbers)

ITEM 6 MANHOLE, 4' DIAMETER

2 UNIT @ \$ 6500 Per UNIT \$ 13000

1 six thousand five hundred dollars

(Write UNIT price for Item 6 in Words and Numbers)

ITEM 7 MANHOLE, 5' DIAMETER

3 UNIT @ \$ 7500 Per UNIT \$ 22500
seven thousand five hundred dollars

(Write UNIT price for Item 7 in Words and Numbers

ITEM 8 CONCRETE SIDEWALK, 5" THICK

302 SY @ \$ 80 Per SY \$ 24160

eighty

(Write UNIT price for Item 8 in Words and Numbers

TOTAL ALTERNATE BID (Items 1 through 8) \$ \$93,920.00

ninety three thousand nine hundred twenty dollars

(Write Total Alternate Bid)

PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID
(MANDATORY)

NAME Alpha Contracting Co.

ADDRESS PO Box 656

CITY, STATE, ZIP South River, NJ 08882

TELEPHONE: 732-416-9977

FAX NO. _____

TRADE Concrete

LICENSE NO. See Attached

NAME Dan Swayze and Son Inc.

ADDRESS 2351 Waldheim Avenue,

CITY, STATE, ZIP Scotch Plains, NJ

TELEPHONE: 908-789-1336

FAX NO. _____

TRADE Striping/Signage

LICENSE NO. See Attached

NAME MT A Tree Service

ADDRESS 99 N Oak St

CITY, STATE, ZIP Cowwood NJ

TELEPHONE: See Attached

FAX NO. _____

TRADE ↓

LICENSE NO. _____

NAME _____

ADDRESS _____

CITY, STATE, ZIP _____

TELEPHONE: _____

FAX NO. _____

TRADE _____

LICENSE NO. _____

NAME _____

ADDRESS _____

CITY, STATE, ZIP _____

TELEPHONE: _____

FAX NO. _____

TRADE _____

LICENSE NO. _____

Seacoast Const.

CITY OF TRENTON MERCER COUNTY, NEW JERSEY

STUYVESANT AVENUE RECONSTRUCTION From Parkside Avenue to City Line

SCHEDULE OF PRICES

BASE BID

ITEM 1 MOBILIZATION

1 LS @ \$ 5,000.00 Per LS \$ 5,000.00

Five thousand dollar and zero cents
(Write LUMP SUM price for Item 1 in Words and Numbers)

ITEM 2 CONSTRUCTION LAYOUT

1 LS @ \$ 0.01 Per LS \$ 0.01

One cent
(Write LUMP SUM price for Item 2 in Words and Numbers)

ITEM 3 BREAKAWAY BARRICADE

20 UNIT @ \$ 0.01 Per UNIT \$ 0.20

One cent
(Write UNIT price for Item 3 in Words and Numbers)

ITEM 4 DRUM

60 UNIT @ \$ 0.01 Per UNIT \$ 0.60

One cent
(Write UNIT price for Item 4 in Words and Numbers)

ITEM 5 TRAFFIC CONE

100 UNIT @ \$ 0.01 Per UNIT \$ 1.00

One cent
(Write UNIT price for Item 5 in Words and Numbers)

ITEM 6	CONSTRUCTION SIGNS
300 SF	@ \$ <u>0.01</u> Per SF \$ <u>3.00</u>
<u>One cent</u>	
(Write UNIT price for Item 6 in Words and Numbers	
ITEM 7	TRAFFIC DIRECTOR, FLAGGER
100 HOUR	@ \$ <u>76.23</u> Per HOUR \$ <u>7,623.00</u>
<u>SEVEN THOUSAND SIX HUNDRED TWENTY-THREE DOLLARS</u>	
<u>AND ZERO CENTS</u>	
(Write UNIT price for Item 7 in Words and Numbers	
ITEM 8	FUEL PRICE ADJUSTMENT
2100 DOLL	@ \$ <u>1.00</u> Per DOLL \$ <u>2,100.00</u>
<u>TWO THOUSAND ONE HUNDRED DOLLARS AND ZERO CENTS</u>	
(Write UNIT price for Item 8 in Words and Numbers	
ITEM 9	ASPHALT PRICE ADJUSTMENT
3600 DOLL	@ \$ <u>1.00</u> Per DOLL \$ <u>3,600.00</u>
<u>THREE THOUSAND SIX HUNDRED DOLLARS AND ZERO CENTS</u>	
(Write UNIT price for Item 9 in Words and Numbers	
ITEM 10	CLEARING SITE
1 LS	@ \$ <u>160,000.00</u> Per LS \$ <u>160,000.00</u>
<u>One hundred sixty thousand dollars and zero cents</u>	
(Write LUMP SUM price for Item 10 in Words and Numbers	
ITEM 11	EXCAVATION, TEST PIT
20 CY	@ \$ <u>0.01</u> Per CY \$ <u>0.20</u>
<u>One cent</u>	
(Write UNIT price for Item 11 in Words and Numbers	
ITEM 12	DENSE-GRADED AGGREGATE BASE COURSE, 6" THICK
200 SY	@ \$ <u>8.00</u> Per SY \$ <u>1,600.00</u>
<u>Eight dollars and zero cents</u>	
(Write UNIT price for Item 12 in Words and Numbers	

ITEM 13	HMA MILLING, 3" OR LESS
24473 SY	@ \$ <u>3.25</u> Per SY \$ <u>79,537.25</u>
<u>three dollars and Twenty five cents</u>	
(Write UNIT price for Item 13 in Words and Numbers)	
ITEM 14	HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 2" THICK
3392 TON	@ \$ <u>81.50</u> Per TON \$ <u>276,448.00</u>
<u>Eighty one dollars and fifty cents</u>	
(Write UNIT price for Item 14 in Words and Numbers)	
ITEM 15	HOT MIX ASPHALT 19M64 BASE COURSE, 4" THICK
200 TON	@ \$ <u>81.50</u> Per TON \$ <u>16,300.00</u>
<u>Eighty one dollars and fifty cents</u>	
(Write UNIT price for Item 15 in Words and Numbers)	
ITEM 16	RECONSTRUCTED MODULAR BLOCK WALL (IF & WHERE DIRECTED)
1 LS	@ \$ <u>1,000.00</u> Per LS \$ <u>1,000.00</u>
<u>One thousand dollar and zero cents</u>	
(Write LUMP SUM price for Item 16 in Words and Numbers)	
ITEM 17	RESET EXISTING CASTING
28 UNIT	@ \$ <u>300.00</u> Per UNIT \$ <u>8,400.00</u>
<u>Three hundred dollars and zero cents</u>	
(Write UNIT price for Item 17 in Words and Numbers)	
ITEM 18	SET INLET TYPE B, CASTING
1 UNIT	@ \$ <u>1,500.00</u> Per UNIT \$ <u>1,500.00</u>
<u>One thousand five hundred dollars and zero cents</u>	
(Write UNIT price for Item 18 in Words and Numbers)	
ITEM 19	SET MANHOLE CASTING
4 UNIT	@ \$ <u>1,000.00</u> Per UNIT \$ <u>4,000.00</u>
<u>One thousand dollars and zero cents</u>	
(Write UNIT price for Item 19 in Words and Numbers)	

ITEM 20	RECONSTRUCTED INLET, TYPE B, USING NEW CASTING
5 UNIT	@ \$ <u>2,000.00</u> Per UNIT \$ <u>10,000.00</u>
	<u>Two thousand dollars and zero cents</u>
	(Write UNIT price for Item 20 in Words and Numbers)
ITEM 21	RECONSTRUCTED MANHOLE, USING EXISTING CASTING
3 UNIT	@ \$ <u>750.00</u> Per UNIT \$ <u>2,250.00</u>
	<u>Seven hundred and fifty dollars and zero cents</u>
	(Write UNIT price for Item 21 in Words and Numbers)
ITEM 22	BICYCLE SAFE GRATE
3 UNIT	@ \$ <u>500.00</u> Per UNIT \$ <u>1,500.00</u>
	<u>Five hundred dollars and zero cents</u>
	(Write UNIT price for Item 22 in Words and Numbers)
ITEM 23	CURB PIECE
1 UNIT	@ \$ <u>900.00</u> Per UNIT \$ <u>900.00</u>
	<u>Nine hundred dollars and zero cents</u>
	(Write UNIT price for Item 23 in Words and Numbers)
ITEM 24	CLEANING DRAINAGE STRUCTURE
1 UNIT	@ \$ <u>500.00</u> Per UNIT \$ <u>500.00</u>
	<u>Five hundred dollars and zero cents</u>
	(Write UNIT price for Item 24 in Words and Numbers)
ITEM 25	CONCRETE SIDEWALK, 5" THICK
2918 SY	@ \$ <u>63.00</u> Per SY \$ <u>183,834.00</u>
	<u>Sixty three dollars and zero cents</u>
	(Write UNIT price for Item 25 in Words and Numbers)
ITEM 26	CONCRETE SIDEWALK, REINFORCED, 7" THICK
607 SY	@ \$ <u>90.00</u> Per SY \$ <u>54,630.00</u>
	<u>Ninety dollars and zero cents</u>
	(Write UNIT price for Item 26 in Words and Numbers)

ITEM 27	HOT MIX ASPHALT DRIVEWAY, 2" THICK			
	197 SY	@ \$ <u>34.00</u>	Per SY	\$ <u>10,638.00</u>
	<u>Fifty four dollars and zero cents</u>			
	(Write UNIT price for Item 27 in Words and Numbers)			
ITEM 28	DETECTABLE WARNING SURFACE			
	67 SY	@ \$ <u>300.00</u>	Per SY	\$ <u>20,100.00</u>
	<u>three hundred dollars and zero cents</u>			
	(Write UNIT price for Item 28 in Words and Numbers)			
ITEM 29	RESET EXISTING PAVERS			
	10 SY	@ \$ <u>180.00</u>	Per SY	\$ <u>1,800.00</u>
	<u>One hundred eighty dollars and zero cents</u>			
	(Write UNIT price for Item 29 in Words and Numbers)			
ITEM 30	9" X 18" CONCRETE VERTICAL CURB			
	6435 LF	@ \$ <u>25.00</u>	Per LF	\$ <u>160,875.00</u>
	<u>Twenty five dollars and zero cents</u>			
	(Write UNIT price for Item 30 in Words and Numbers)			
ITEM 31	GRANITE CURB			
	150 LF	@ \$ <u>30.00</u>	Per LF	\$ <u>4500.00</u>
	<u>Thirty dollars and zero cents</u>			
	(Write UNIT price for Item 31 in Words and Numbers)			
ITEM 32	TRAFFIC MARKINGS LINES, 4"			
	210 LF	@ \$ <u>0.65</u>	Per LF	\$ <u>136.50</u>
	<u>Sixty five cents</u>			
	(Write UNIT price for Item 32 in Words and Numbers)			
ITEM 33	TRAFFIC MARKINGS LINES, 8"			
	174 LF	@ \$ <u>1.30</u>	Per LF	\$ <u>226.20</u>
	<u>One dollar and thirty cents</u>			
	(Write UNIT price for Item 33 in Words and Numbers)			

ITEM 34	TRAFFIC MARKINGS LINES, 24"
2114 LF	@ \$ <u>3.90</u> Per LF \$ <u>8,244.60</u>
	<u>three dollars and ninety cents</u>
	(Write UNIT price for Item 34 in Words and Numbers)
ITEM 35	TRAFFIC MARKINGS SYMBOLS, ARROW (LEFT)
1 UNIT	@ \$ <u>125.00</u> Per UNIT \$ <u>125.00</u>
	<u>One hundred Twenty five dollars and zero cents</u>
	(Write UNIT price for Item 35 in Words and Numbers)
ITEM 36	TRAFFIC MARKINGS SYMBOLS, ONLY
1 UNIT	@ \$ <u>150.00</u> Per UNIT \$ <u>150.00</u>
	<u>One hundred fifty dollars and zero cents</u>
	(Write UNIT price for Item 36 in Words and Numbers)
ITEM 37	REGULATORY AND WARNING SIGN
10 SF	@ \$ <u>40.00</u> Per SF \$ <u>400.00</u>
	<u>Forty dollars and zero cents</u>
	(Write UNIT price for Item 37 in Words and Numbers)
ITEM 38	TREE REMOVAL, OVER 0" TO 6" DIAMETER
1 UNIT	@ \$ <u>500.00</u> Per UNIT \$ <u>500.00</u>
	<u>Five hundred dollars and zero cents</u>
	(Write UNIT price for Item 38 in Words and Numbers)
ITEM 39	TREE REMOVAL, OVER 6" TO 12" DIAMETER
12 UNIT	@ \$ <u>750.00</u> Per UNIT \$ <u>9,000.00</u>
	<u>Seven hundred fifty dollars and zero cents</u>
	(Write UNIT price for Item 39 in Words and Numbers)
ITEM 40	TREE REMOVAL, OVER 12" TO 18" DIAMETER
20 UNIT	@ \$ <u>1,000.00</u> Per UNIT \$ <u>20,000.00</u>
	<u>One thousand dollars and zero cents</u>
	(Write UNIT price for Item 40 in Words and Numbers)

Seacoast Cost.

0

ITEM 41 TREE REMOVAL, OVER 18" TO 24" DIAMETER

13 UNIT @ \$ 1,400.00 Per UNIT \$ 18,200.00

One thousand four hundred dollars and zero cents

(Write UNIT price for Item 41 in Words and Numbers)

ITEM 42 TREE REMOVAL, OVER 24" TO 30" DIAMETER

10 UNIT @ \$ 2,200.00 Per UNIT \$ 22,000.00

Two thousand two hundred dollars and zero cents

(Write UNIT price for Item 42 in Words and Numbers)

ITEM 43 TREE REMOVAL, OVER 30" TO 36" DIAMETER

1 UNIT @ \$ 3,650.00 Per UNIT \$ 3,650.00

Three thousand six hundred fifty dollars and zero cents

(Write UNIT price for Item 43 in Words and Numbers)

ITEM 44 TREE REMOVAL, OVER 36" DIAMETER

1 UNIT @ \$ 4,750.00 Per UNIT \$ 4,750.00

Four thousand seven hundred fifty dollars and zero cents

(Write UNIT price for Item 44 in Words and Numbers)

ITEM 45 SMALL DECIDUOUS TREE, 2-1/2" CALIPER

50 UNIT @ \$ 800.00 Per UNIT \$ 40,000.00

Eight hundred dollars and zero cents

(Write UNIT price for Item 45 in Words and Numbers)

TOTAL BASE BID (Items 1 through 45)

\$ 1,146,022.50

One million one hundred forty six thousand twenty two dollars

(Write Total Bid) and fifty cents

ALTERNATE BID

ITEM 1 12" DUCTILE IRON PIPE, CLASS 52

48 LF @ \$ 300.00 Per LF \$ 14,400.00

Three hundred dollar and zero cents
(Write UNIT price for Item 1 in Words and Numbers)

ITEM 2 12" HIGH DENSITY POLYETHYLENE PIPE

205 LF @ \$ 95.00 Per LF \$ 19,475.00

Ninety five dollar and zero cents
(Write UNIT price for Item 2 in Words and Numbers)

ITEM 3 36" HIGH DENSITY POLYETHYLENE PIPE

206 LF @ \$ 160.00 Per LF \$ 32,960.00

One hundred sixty dollars and zero cents
(Write UNIT price for Item 3 in Words and Numbers)

ITEM 4 INLET, TYPE D

2 UNIT @ \$ 7,000.00 Per UNIT \$ 14,000.00

Seven thousand dollar and zero cents
(Write UNIT price for Item 4 in Words and Numbers)

ITEM 5 INLET, TYPE B, EXTENDED

3 UNIT @ \$ 7,500.00 Per UNIT \$ 22,500.00

Seven thousand five hundred dollar and zero cents
(Write UNIT price for Item 5 in Words and Numbers)

ITEM 6 MANHOLE, 4' DIAMETER

2 UNIT @ \$ 7,500.00 Per UNIT \$ 15,000.00

Seven thousand five hundred dollar and zero cents
(Write UNIT price for Item 6 in Words and Numbers)

ITEM 7 MANHOLE, 5' DIAMETER

3 UNIT @ \$ 8,500.00 Per UNIT \$ 25,000.00

Eight thousand five hundred dollar and zero cents
(Write UNIT price for Item 7 in Words and Numbers)

ITEM 8 CONCRETE SIDEWALK, 5" THICK

302 SY @ \$ 90.00 Per SY \$ 27,180

Ninety dollar and zero cents
(Write UNIT price for Item 8 in Words and Numbers)

TOTAL ALTERNATE BID (Items 1 through 8) \$ 171,015.00

One hundred seven thousand fifteen dollar and zero cents
(Write Total Alternate Bid)

PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID
(MANDATORY)

NAME Black Pace Enterprise
ADDRESS 1316 Englewood Rd
CITY, STATE, ZIP Old Bridge, N.J. 08867
TELEPHONE: 732-967-6400
FAX NO. 732-967-6402
TRADE Painting
LICENSE NO. # 667926

NAME Straight Edge Striping
ADDRESS 201 Willow Ave.
CITY, STATE, ZIP Middlesex, N.J. 08846
TELEPHONE: 732-302-3001
FAX NO. 732-469-4812
TRADE Striping
LICENSE NO. GT 3443

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

Black Rock

7

CITY OF TRENTON
MERCER COUNTY, NEW JERSEY

STUYVESANT AVENUE RECONSTRUCTION
From Parkside Avenue to City Line

SCHEDULE OF PRICES

BASE BID

ITEM 1 MOBILIZATION

1 LS @ \$ 35,000.00 Per LS \$ 35,000.00

P Thirty-five thousand dollars

(Write LUMP SUM price for Item 1 in Words and Numbers)

ITEM 2 CONSTRUCTION LAYOUT

1 LS @ \$ 14,843.35 Per LS \$ 14,843.35

fourteen thousand eight hundred forty three dollars and thirty five cents
(Write LUMP SUM price for Item 2 in Words and Numbers)

ITEM 3 BREAKAWAY BARRICADE

20 UNIT @ \$ 1.00 Per UNIT \$ 20.00

one dollar

(Write UNIT price for Item 3 in Words and Numbers)

ITEM 4 DRUM

60 UNIT @ \$ 1.00 Per UNIT \$ 60.00

one dollar

(Write UNIT price for Item 4 in Words and Numbers)

ITEM 5 TRAFFIC CONE

100 UNIT @ \$ 1.00 Per UNIT \$ 100.00

one dollar

(Write UNIT price for Item 5 in Words and Numbers)

ITEM 6	CONSTRUCTION SIGNS
	300 SF @ \$ <u>10.00</u> Per SF \$ <u>3,000.00</u>
<u>ten dollars</u>	
	(Write UNIT price for Item 6 in Words and Numbers)
ITEM 7	TRAFFIC DIRECTOR, FLAGGER
	100 HOUR @ \$ <u>76.23</u> Per HOUR \$ <u>7,623.00</u>
SEVEN THOUSAND SIX HUNDRED TWENTY-THREE DOLLARS AND ZERO CENTER	
	(Write UNIT price for Item 7 in Words and Numbers)
ITEM 8	FUEL PRICE ADJUSTMENT
	2100 DOLL @ \$ <u>1.00</u> Per DOLL \$ <u>2,100.00</u>
TWO THOUSAND ONE HUNDRED DOLLARS AND ZERO CENTS	
	(Write UNIT price for Item 8 in Words and Numbers)
ITEM 9	ASPHALT PRICE ADJUSTMENT
	3600 DOLL @ \$ <u>1.00</u> Per DOLL \$ <u>3,600.00</u>
THREE THOUSAND SIX HUNDRED DOLLARS AND ZERO CENTS	
	(Write UNIT price for Item 9 in Words and Numbers)
ITEM 10	CLEARING SITE
	1 LS @ \$ <u>5,000.00</u> Per LS \$ <u>5,000.00</u>
five thousand dollars	
	(Write LUMP SUM price for Item 10 in Words and Numbers)
ITEM 11	EXCAVATION, TEST PIT
	20 CY @ \$ <u>100.00</u> Per CY \$ <u>2,000.00</u>
one hundred dollars	
	(Write UNIT price for Item 11 in Words and Numbers)
ITEM 12	DENSE-GRADED AGGREGATE BASE COURSE, 6" THICK
	200 SY @ \$ <u>0.01</u> Per SY \$ <u>2.00</u>
One cent	
	(Write UNIT price for Item 12 in Words and Numbers)

ITEM 13	HMA MILLING, 3" OR LESS			
	24473 SY	@ \$ <u>3.25</u>	Per SY	\$ <u>79,537.25</u>
	<u>three dollars and twenty five cents</u>			
(Write UNIT price for Item 13 in Words and Numbers)				
ITEM 14	HOT MIX ASPHALT 9.5M64 SURFACE COURSE, 2" THICK			
	3392 TON	@ \$ <u>81.50</u>	Per TON	\$ <u>276,448.00</u>
	<u>eighty one dollars and fifty cents</u>			
(Write UNIT price for Item 14 in Words and Numbers)				
ITEM 15	HOT MIX ASPHALT 19M64 BASE COURSE, 4" THICK			
	200 TON	@ \$ <u>110.00</u>	Per TON	\$ <u>22,000.00</u>
	<u>one hundred ten dollars</u>			
(Write UNIT price for Item 15 in Words and Numbers)				
ITEM 16	RECONSTRUCTED MODULAR BLOCK WALL (IF & WHERE DIRECTED)			
	1 LS	@ \$ <u>5,000.00</u>	Per LS	\$ <u>5,000.00</u>
	<u>five thousand dollars</u>			
(Write LUMP SUM price for Item 16 in Words and Numbers)				
ITEM 17	RESET EXISTING CASTING			
	28 UNIT	@ \$ <u>350.00</u>	Per UNIT	\$ <u>9,800.00</u>
	<u>three hundred fifty dollars</u>			
(Write UNIT price for Item 17 in Words and Numbers)				
ITEM 18	SET INLET TYPE B, CASTING			
	1 UNIT	@ \$ <u>1,200.00</u>	Per UNIT	\$ <u>1,200.00</u>
	<u>one thousand two hundred dollars</u>			
(Write UNIT price for Item 18 in Words and Numbers)				
ITEM 19	SET MANHOLE CASTING			
	4 UNIT	@ \$ <u>800.00</u>	Per UNIT	\$ <u>3,200.00</u>
	<u>eight hundred dollars</u>			
(Write UNIT price for Item 19 in Words and Numbers)				

ITEM 20	RECONSTRUCTED INLET, TYPE B, USING NEW CASTING
	5 UNIT @ \$ <u>2,500.00</u> Per UNIT \$ <u>12,500.00</u>
	<u>two thousand five hundred dollars</u>
	(Write UNIT price for Item 20 in Words and Numbers)
ITEM 21	RECONSTRUCTED MANHOLE, USING EXISTING CASTING
	3 UNIT @ \$ <u>1,500.00</u> Per UNIT \$ <u>4,500.00</u>
	<u>one thousand five hundred dollars</u>
	(Write UNIT price for Item 21 in Words and Numbers)
ITEM 22	BICYCLE SAFE GRATE
	3 UNIT @ \$ <u>400.00</u> Per UNIT \$ <u>1,200.00</u>
	<u>four hundred dollars</u>
	(Write UNIT price for Item 22 in Words and Numbers)
ITEM 23	CURB PIECE
	1 UNIT @ \$ <u>500.00</u> Per UNIT \$ <u>500.00</u>
	<u>five hundred dollars</u>
	(Write UNIT price for Item 23 in Words and Numbers)
ITEM 24	CLEANING DRAINAGE STRUCTURE
	1 UNIT @ \$ <u>500.00</u> Per UNIT \$ <u>500.00</u>
	<u>five hundred dollars</u>
	(Write UNIT price for Item 24 in Words and Numbers)
ITEM 25	CONCRETE SIDEWALK, 5" THICK
	2918 SY @ \$ <u>75.00</u> Per SY \$ <u>218,850.00</u>
	<u>seventy five dollars</u>
	(Write UNIT price for Item 25 in Words and Numbers)
ITEM 26	CONCRETE SIDEWALK, REINFORCED, 7" THICK
	607 SY @ \$ <u>90.00</u> Per SY \$ <u>54,630.00</u>
	<u>ninety dollars</u>
	(Write UNIT price for Item 26 in Words and Numbers)

ITEM 27	HOT MIX ASPHALT DRIVEWAY, 2" THICK				
	197 SY	@ \$ <u>40.00</u>	Per SY	\$ <u>7,880.00</u>	
<u>forty dollars</u>					
(Write UNIT price for Item 27 in Words and Numbers)					
ITEM 28	DETECTABLE WARNING SURFACE				
	67 SY	@ \$ <u>500.00</u>	Per SY	\$ <u>33,500.00</u>	
<u>five hundred dollars</u>					
(Write UNIT price for Item 28 in Words and Numbers)					
ITEM 29	RESET EXISTING PAVERS				
	10 SY	@ \$ <u>120.00</u>	Per SY	\$ <u>1,200.00</u>	
<u>one hundred twenty dollars</u>					
(Write UNIT price for Item 29 in Words and Numbers)					
ITEM 30	9" X 18" CONCRETE VERTICAL CURB				
	6435 LF	@ \$ <u>32.00</u>	Per LF	\$ <u>205,920.00</u>	
<u>thirty two dollars</u>					
(Write UNIT price for Item 30 in Words and Numbers)					
ITEM 31	GRANITE CURB				
	150 LF	@ \$ <u>32.00</u>	Per LF	\$ <u>4,800.00</u>	
<u>thirty two dollars</u>					
(Write UNIT price for Item 31 in Words and Numbers)					
ITEM 32	TRAFFIC MARKINGS LINES, 4"				
	210 LF	@ \$ <u>0.75</u>	Per LF	\$ <u>157.50</u>	
<u>seventy five cents</u>					
(Write UNIT price for Item 32 in Words and Numbers)					
ITEM 33	TRAFFIC MARKINGS LINES, 8"				
	174 LF	@ \$ <u>1.45</u>	Per LF	\$ <u>252.30</u>	
<u>one dollar forty five cents</u>					
(Write UNIT price for Item 33 in Words and Numbers)					

ITEM 34	TRAFFIC MARKINGS LINES, 24"
	2114 LF @ \$ <u>4.40</u> Per LF \$ <u>9,301.60</u>
<u>four dollars forty cents</u>	
	(Write UNIT price for Item 34 in Words and Numbers)
ITEM 35	TRAFFIC MARKINGS SYMBOLS, ARROW (LEFT)
	1 UNIT @ \$ <u>140.00</u> Per UNIT \$ <u>140.00</u>
<u>one hundred forty dollars</u>	
	(Write UNIT price for Item 35 in Words and Numbers)
ITEM 36	TRAFFIC MARKINGS SYMBOLS, ONLY
	1 UNIT @ \$ <u>165.00</u> Per UNIT \$ <u>165.00</u>
<u>one hundred sixty five dollars</u>	
	(Write UNIT price for Item 36 in Words and Numbers)
ITEM 37	REGULATORY AND WARNING SIGN
	10 SF @ \$ <u>44.00</u> Per SF \$ <u>440.00</u>
<u>forty four dollars</u>	
	(Write UNIT price for Item 37 in Words and Numbers)
ITEM 38	TREE REMOVAL, OVER 0" TO 6" DIAMETER
	1 UNIT @ \$ <u>330.00</u> Per UNIT \$ <u>330.00</u>
<u>three hundred thirty dollars</u>	
	(Write UNIT price for Item 38 in Words and Numbers)
ITEM 39	TREE REMOVAL, OVER 6" TO 12" DIAMETER
	12 UNIT @ \$ <u>525.00</u> Per UNIT \$ <u>6,300.00</u>
<u>five hundred twenty five dollars</u>	
	(Write UNIT price for Item 39 in Words and Numbers)
ITEM 40	TREE REMOVAL, OVER 12" TO 18" DIAMETER
	20 UNIT @ \$ <u>900.00</u> Per UNIT \$ <u>18,000.00</u>
<u>nine hundred dollars</u>	
	(Write UNIT price for Item 40 in Words and Numbers)

ITEM 41	TREE REMOVAL, OVER 18" TO 24" DIAMETER			
	13 UNIT	@ \$ <u>1,600.00</u>	Per UNIT	\$ <u>20,800.00</u>
	<u>one thousand six hundred dollars</u>			
	(Write UNIT price for Item 41 in Words and Numbers)			
ITEM 42	TREE REMOVAL, OVER 24" TO 30" DIAMETER			
	10 UNIT	@ \$ <u>2,750.00</u>	Per UNIT	\$ <u>27,500.00</u>
	<u>two thousand seven hundred fifty dollars</u>			
	(Write UNIT price for Item 42 in Words and Numbers)			
ITEM 43	TREE REMOVAL, OVER 30" TO 36" DIAMETER			
	1 UNIT	@ \$ <u>3,800.00</u>	Per UNIT	\$ <u>3,800.00</u>
	<u>three thousand eight hundred dollars</u>			
	(Write UNIT price for Item 43 in Words and Numbers)			
ITEM 44	TREE REMOVAL, OVER 36" DIAMETER			
	1 UNIT	@ \$ <u>4,900.00</u>	Per UNIT	\$ <u>4,900.00</u>
	<u>four thousand nine hundred dollars</u>			
	(Write UNIT price for Item 44 in Words and Numbers)			
ITEM 45	SMALL DECIDUOUS TREE, 2-1/2" CALIPER			
	50 UNIT	@ \$ <u>750.00</u>	Per UNIT	\$ <u>37,500.00</u>
	<u>seven hundred fifty dollars</u>			
	(Write UNIT price for Item 45 in Words and Numbers)			

TOTAL BASE BID (Items 1 through 45) \$1,146,100.00
one million one hundred Forty Six thousand 00
(Write Total Bid) one hundred dollars

ALTERNATE BID

ITEM 1 12" DUCTILE IRON PIPE, CLASS 52

48 LF @ \$ 110.00 Per LF \$ 5,280.00

one hundred ten dollars

(Write UNIT price for Item 1 in Words and Numbers)

ITEM 2 12" HIGH DENSITY POLYETHYLENE PIPE

205 LF @ \$ 70.00 Per LF \$ 14,350.00

Seventy dollars

(Write UNIT price for Item 2 in Words and Numbers)

ITEM 3 36" HIGH DENSITY POLYETHYLENE PIPE

206 LF @ \$ 100.00 Per LF \$ 20,600.00

one hundred dollars

(Write UNIT price for Item 3 in Words and Numbers)

ITEM 4 INLET, TYPE D

2 UNIT @ \$ 4,500.00 Per UNIT \$ 9,000.00

four thousand five hundred dollars

(Write UNIT price for Item 4 in Words and Numbers)

ITEM 5 INLET, TYPE B, EXTENDED

3 UNIT @ \$ 6,000.00 Per UNIT \$ 18,000.00

six thousand dollars

(Write UNIT price for Item 5 in Words and Numbers)

ITEM 6 MANHOLE, 4' DIAMETER

2 UNIT @ \$ 7,500.00 Per UNIT \$ 15,000.00

seven thousand five hundred dollars

(Write UNIT price for Item 6 in Words and Numbers)

ITEM 7 MANHOLE, 5' DIAMETER

3 UNIT @ \$ 8,000.00 Per UNIT \$ 24,000.00

eight thousand dollars

(Write UNIT price for Item 7 in Words and Numbers)

ITEM 8 CONCRETE SIDEWALK, 5" THICK

302 SY @ \$ 85.00 Per SY \$ 25,670.00

eighty five dollars

(Write UNIT price for Item 8 in Words and Numbers)

TOTAL ALTERNATE BID (Items 1 through 8)

\$ 131,900.00

one hundred thirty one thousand nine hundred dollars

(Write Total Alternate Bid)

PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID

(MANDATORY)

NAME Straight Edge Stripping
ADDRESS 201 Wilton Avenue
CITY, STATE, ZIP Middlesex NJ 08844
TELEPHONE: 732-301-3000
FAX NO. 732-301-3002
TRADE Striping
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____